Combr

Combi Vertical Diaper Changing Station
Smart Hold OKF11 Installation Manual

For the proper installation, read this manual carefully and follow each instruction in this manual.

Il Listof Mounting Screws forthe Wall Il

The following (D to @ are the types of wall surfaces.
* (D Other than accessories listed (Dtapping screws and washers), prepare separetly

Upper part of
the body frame
Large Hole

(D Attaching to Partition + Gypsum Wall Board

e Y

. [} 0] ©
A Wal‘nlng _‘W e Tapping Screw 7 Small Holes <Reinforcement of Partition>
Insert a reinforcing wood of 30mm or more inside.
¢ Be sure to attach the product not only on the floor but also on the wall. Small Hole 0535 tapping scrow —» (2 YD . % Be sure to check the warnings on the left.
Fixing only the floor surface may cause fall. Large (accessory) <Reinforcement of Gypsum Wall Board>
. ] L. Hol Fix it to a lightweight steel frame or the area reinforced
e Select anchor bolts with a <Example of Installation to the floor> Hols e 5 Washer (accessory) ———————— with a plywood (t12mm or more) or steel sheet (t2.3 or more).
length (minimum 40mm or FALSE COLLECT [/ W/f,{
longer) that can be securely AnChc.)r Bot Securely embed — \ (@ Attaching to Concrete, ALS
fixed to the concrete layer. Tile e ot lonst A0mm Main Bod ,
FiXing to a mortar Iayer may ‘ < Mortar ' in the concrete ain Boay ® M6-10 Anchor 6 Large Holes *Use special anchors for ALC.
cause fall. 7 Concrete ™ layer. Female Thread Type Marl\‘eu:'hread Type * fF(I)(?ftehr et(; etlrc]aec m)&gr:)i;\?h(e)r; (;[r?gtlr?.ﬂ
A oo el
n / or more L washer [

e When the wall surface is concrete, reinforce the base of the wall.
* Each attaching point must withstand 150N (15kgf) [total of 7 attaching points].
Failure to comply this requirement may result in fall.

(3 Attaching to Hollow Block

e Toggle Bolt 7 Small Holes

U M6 Washer —

M6 Bolt —> Q'I[IIIIIIIIIW @:h

e When using tapping 650mm
screws to mount the
product on a dry-type

wall, be sure to insert

e When using tapping
screws to mount
the product on a S -

partition wall, insert ¢ ¢ .. Material .~ |
a reinforced wood g

<Example of Installation to the Floor>
30 mm or more

» <—— M6 Toggle Bolt

For the 2 holes at the bottom, the
tool can be used from the front -
when the table panel is closed.

a lightweight steel :

frame (stud or cross ¢ of 0mmormore - Place . Accessories Il
rail) or plywood £ || ; without any space ~ reinforcement

(1 2mm tthk) at the 8 I ! at the tapplng woo £ Tapping Screw (D4x12) Tapping Screw (D5x35), U-shaped Washer 5pcs Guide Stickers 2pcs Warning Sticker 1pc
attaching point for s screw fixing Tapping screw 2pcs Washer (for & 5) 7 sets

reinforcement. position. - ? - 2 - ?

@) () (0) o

Failure to follow this Failure to follow this

instruction may result

in fall.

instruction may =
result in fall.

Paper Core —|

Installation Site (Installation Range)

\

»
»

« > *ﬁw

Opened depth 750mm

Keep 50-70mm on the
side or keep space more
than 200mm.

* These dimensions
make it difficult for the
child's fingers, arms, or
head from caught.

Workspace

Keep more than 400 mm
(Front side when the table
panel is opened.)

~N

r

/\ Warning

e |n places where toilets and washbasins
are used, always install this product where
the product is in the view while they are
used.

e |nstall the trash bin for paper diapers near
the product so that you do not leave the

child when changing the diaper.
\ J

Ve

/\ Caution

Install the product in a position where the
door does not contact the product when the
door is opened.

The product may be damaged if it hits the

door.
\_

* For fixing the lower cover

DI

* For adjusting angle

* For attaching to the wall (partition,
gypsum wall board)

Manual 1 copy

1 copy

Instruction Manual (This Booklet)

Daily and Periodic Inspection Manual

feopy [ )

e Anchor bolts are not included. Prepare separately. Use 3pcs of M10 for floor and 6pcs of M6 to M10 for concrete wall and ALC.
(Refer @ of "List of Mounting Screws for the Wall" above)

H”H"""llllll The installation procedure is on the backside.

CombiWith Corporation

Head Offices: 2-6-7 Motoasakusa, Taito-ku, Tokyo 111-0041 Japan
Tel: 03-5828-7631 Fax: 03-5828-7630

128986060 1510(6)




A installation Procedure _

" Remove the lower cover while "Remove screws and washers (2 E Drive the M10 anchor into the "
Attach the frame to the floor.

the product is in the box.

locations) on the top cover and
pull out from the frame.

installation site. (3 locations)

7-1 For Concrete and ALC

Drive the M6-10 anchor to secure the frame. (6 locations)

* Keep the plastic bag
on the seat cushion to
prevent the dust.

Lower Cover
(Panel Base)

Top Cover (Panel Top)

Do not lose the
screws and washers

ERemove the head cushion.

Head cushion can be
removed by hand.

Head Cushion

Remove the hinge cover from
the frame.

Hinge Cover

The anchor bolt is not an accessory.
Prepare separately.

M10 anchors 3pcs

PEa
.-
.

There are unused

Make space of 5mm  holes.
from the wall.
28mm }
47mm i
250mm ‘ 250mm

* The lower part of the frame is designed 5mm
off from the upper body considering the

thickness of the baseboard.

The following are not enclosed.
Prepare separately.

Hexagonal Nut (M10)
Spring Washer
Washer

.- : T
PP (<Cross—Sect|onaI View>

* Make sure that there is no gap
/%

~

between the upper part of the main
body and the wall surface.
Use enclosed % Wi
U-shaped washer 2
(1 to 5 pcs) to adjust
the angle. v /
oor,
), %
Make space of 5mm
\__at the bottom. Y,

Use large holes.

(2]

(1]

The center hole is not used.

0 O
o ° ©
0
115mn 115mm
T b
(1] (2]
218m | 218mn
()| JE2)
Al Al
260m | 260m |
= * *
=
2 (5] (6]
" 5
S
5

* For ALC, use a dedicated

anchor.

* The above diagram shows
the case using female type

anchor.

panel is closed.

\

For 2 holes at the bottom, the tool can
be used from the front when the table

A

Caution

Be careful not to get dust fromJ

the wall on the product.

7-2 For Partition, Gypsum Wall Board

Secure the frame with the enclosed tapping screws and washers. (7 locations)

"Place @ the lower cover and @ "Secure the lower cover with the WAttach the top cover to the frame "Attach a warning sticker near the

product. Attach guide stickers to
the entrance of the toilet and the
entrance of the toilet booth.

the hinge cover on the frame.

enclosed screws. (2 locations)

with screws and washers and
install the head cushion.

Use small holes.

115mm  115mm

]
(23
198mm

o T e

Enclosed ®5 tapping
screws and washers

[240m | 240m
£ ¥ )t
g (6) (7]
-
-
E Area of reinforced wall
o| E W650xH1,260
@ (0
N
©

* Reinforcement is required

for the screw fixing position.

@ <6

Right Side @) mp
== O O l

If there is a baseboard, cut the lower
cover by the thickness of the baseboard
in advance.

Push in 2 locations and
insert it into the hole of
the frame.

(see front page)

z° (6 L 2 Fe)
For 2 holes at the bottom, the tool can
be used from the front when the table
panel is closed. —
%)
A Be careful not to get dust from
Caution | the wall on the product.

Baseboard

This area is easy
to cut.

It is easy to see the screw holes
if the table panel is closed slightly.

* Screw lower panel while pressing it
against the wall.

Enclosed (4 tapping screw

Insertion slot at back side
of top cover (right and left)

* Remove the poly bag on the
table panel before delivering.

o0
PN =Y

Press 2 locations
until they snap in
‘with click sound.

Insert slot at lower side of
upper cover (right and left)

2

Warning
Entrance of Toilet . Sticker
4
Toilet Booth

\//
M Guide Sticker

Attach them to 2 locations, such as

the entrance to the toilet and the entrance

to the toilet booth.

( AWarning

)

After installation is complete, be sure to perform

inspection. (Refer to the supplied inspection manual)
Using the product with incomplete construction may

cause an injury or serious accident.

128986060 1510(6)



